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3P k WK, (3% + ye? Jdx+(2y° +kee™ )dy =0 nxnwnn - (7

NPT PNN IXNYNNY TN DY, K WM2APN DY TIVD NPNY TN N N
N PYDA XYMV K DY TIYN N2Y DRNYND NN NN A

6 www.GooL.co.il 9MND 101271 INT P00 NID )NIND
© PMMYD N — N 2N5




1pPH9 Gwl NYKI ITON MINNYHD

OO MIvn

0.5x* +3yx+0.5y°-y=c (1
e ix—yi=c (2
ysinx+x%e’' —y=c (3

‘. y’cos2x y* _
2 2
In|x+y|+(x+1)y*+2x—In|x|=c (5

(4

Xt2=2x%+x*=c (6
y4
k=1, x3+exy+?:c (7

wWww.GooL.co.il 9N 19270 INT 1IVIDA NN PNIND
© PMMYD N — N 2N5




1pPH9 GWL NYNI ATON MNNVND

MXMAVIIR DA

MHNY

DPYTH PR XY+ x(1+ yz) y'=0 DNNWNNYININ (1

1
L~ TPIMVINN BN NIV NMN NN
Xy

(—S”;ly —2e7*sin x]dx +(COS y* 2ye cos Xde =0 PRNUNNIYININ (2

S Ye® TPNNVINN DI NINYI NN IIND NPT NN
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(2xy®+y*)dx+(xy*~2)dy=0 (6
(v -y)dx+xdy=0 (7

(y—xyz)dx+(x+x2y2)dy:0 (8

(9

wWww.GooL.co.il 9MNY YD) INT MLV XON IINAD
© PMMYD N — N 2N5




1pPH9 GWL NYNI ATON MNNVND

M (x,y)dx+N(x,y)dy =0 Np>¥10 X2 970 NN (10

M, —N
W ,#: f(x) OX :IPDIN .N

M. —N
DY N, S g (y) DX M

PNDOPN O 2o el

PNTIOPN DM 2N e

(y* —4xy)dx+(2xy° —3x*)dy = 0 TONO¥IDTA NNNWHN MY (11
L1252 xy DV PPN NINY NN ,NIRNIVNN DY TPNNVIND DN NN INSD
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y(0)=0, y'(0)=3; y"—2y'+10y=0 (9
5y"+8y'+4y=0 (10

y"(x —%y(x):o (a>0)

y(0)=4 (11
() = y(-0) =0

16

wWww.GooL.co.il 9MNY YD) INT MVIDI KON IIND
© PMMYD N — N9 ANd




279 GWL MY TON NPINY MNNYN

yy'+(y') =0 TN (12
APTRN YW MINING 0N Y, = VX1 y, =4 9 ININ LN

27N DY PNIND N, Z(X) = Y, (X)+ Y, (X) PINSN DN .2
ITPYINDINDN NIPYD NND T3 ¥ DN

OO MVn

y=ce”+ce™ (1
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NS MAIIVN
y =ce® +c,e?(sinx—4cosx) (1
y:clx+cz(x2+1) (2

TN NONY - (3

23 wWww.GooL.co.il 9MNY YD) INT MVIDI KON IIND
© PMMYD N — N9 ANd



279 G/WL MY TON NPINY MNNYN

PYINYYA IRPOIINN

MHNY

NRNWN DY MNININY ON, Y, (X)=e", y,(x)=sinx D 1Pn» oOxn (1
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